
D1

REF. ARCH. DET. - 
COPING CAP DETAIL

D1
1

AIR
FLOW

ROOF MEMBRANE
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

STUD FRAMING
(BY OTHERS)

5/8"

3 3/8"

3 3/8"

3"±

PANEL FACE
(SEE ELEV.)

1" JT.

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIPS AT
24" O.C. (MAX.)

2OVER SUBSTRATE

BEMO ACCURE WALL
PANEL SYSTEM

HIGH DENSITY INSULATION
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

FLA9902
PERFORATED CLOSURE TRIM

FLA7101
COPING CLEAT-A

FLA1401
COPING CLEAT-B

FLA7001
COPING CAP

INSTALLER NOTE:
AT MIDPOINT OF PANELS, USE A
#12-14 HWH DP2 CLIP SCREW TO
ANCHOR THE PANEL, AND USE THE
SAME FASTENER CENTERED INTO
SLOTTED HOLES TO ALLOW FOR
THERMAL EXPANSION/CONTRACTION

6AT 12" O.C.
(BY INSTALLER)

3 AT 12" O.C.
(BY INSTALLER)

5/8"

45°

DRIP CLEAT

5/8"

45°

DRIP HEM

FLA7001
COPING CAP FLASHING

DRIP HEM

DRIP HEM

3 3/8"

VARIES PER
WALL ASSEMBLY

3 3/8"

1"3/4"

3 1/4"

DRIP CLEAT

FLA7101
COPING CAP CLEAT-A

FLA1401
COPING CAP CLEAT-B

3"

DRIP CLEAT

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON

APPLICATION AND SUBSTRATE
(BY INSTALLER)

1SPACING PER
PANEL FACE

2"
2 1/4"

SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

FLA9901
GUTTER SPLICE

BEMO ACCURE WALL
PANEL SYSTEM

FLA7001
COPING CAP

FLA7101
COPING CLEAT-A

6 AT 12" O.C.
(BY INSTALLER)

2 OVER SUBSTRATE

1 SPACING PER
PANEL FACE

33" LONG CLIPS AT
24" O.C. (MAX.)

2AT 12" O.C. (MAX.)
(BY INSTALLER)

EXTERIOR
SHEATHING

(BY OTHERS)

STUD FRAMING
(BY OTHERS)

1SUPPORT HAT ATTACHMENT
FASTENER VARIES

DEPENDING ON APPLICATION
AND SUBSTRATE

(BY INSTALLER)

3/4" GUTTER
SPLICE TAB

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

COPING CAP DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
DOOR HEAD DETAIL

D1
1

DOOR SYSTEM
(BY OTHERS)

BACKER ROD
AN SEALANT

5/8"

45°

DRIP CLEAT

45°

5/8"

DRIP HEM

8 1/2"

DRIP CLEAT
FLA6601

DOOR HEAD
FLASHING (BOTTOM)

3 7/8"1 1/2"

DRIP HEM

FLA6501
DOOR HEAD

FLASHING (TOP)

FLA6601
DOOR HEAD

FLASHING (BOTTOM)

FLA6501
DOOR HEAD

FLASHING (TOP)

FLA9902
PANEL STARTER CLEAT

1/2"

1 1/8"

1/2"

5/16"

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

135°

135°

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

PANEL FACE
SEE ELEV.

1" JT.

AIR
FLOW1" JT.

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIP AT
24" O.C. (MAX.)

BEMO ACCURE WALL
PANEL SYSTEM

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

FLA9902
PANEL STARTER CLEAT

2AT 12" O.C. (MAX.)
(BY INSTALLER)

PANEL FACE
SEE ELEV.

BEMO ACCURE WALL PANEL
(PERFORATED AT BOTTOM)

1SPACING PER
PANEL FACE

2"
2 1/4"

SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

3/4" GUTTER
SPLICE TAB

FLA9901
GUTTER SPLICE

3/4" MIN.

3(2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON

APPLICATION AND SUBSTRATE
(BY INSTALLER)

STUD FRAMING
(BY OTHERS)

3 24"  O.C.
(MAX.)

1" JT.

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

EXTERIOR
SHEATHING
(BY OTHERS)

3 OVER
SUBSTRATE

STUD FRAMING
(BY OTHERS)

1SUPPORT HAT ATTACHMENT
FASTENER VARIES

DEPENDING ON APPLICATION
AND SUBSTRATE

(BY INSTALLER)

1 SPACING PER
PANEL FACE

DOOR SYSTEM
(BY OTHERS)

FLA6601
DOOR HEAD FLASHING

(BOTTOM)

FLA6501
DOOR HEAD

FLASHING (TOP)

BEMO ACCURE WALL PANEL
(PERFORATED AT BOTTOM)

FLA9902
PANEL STARTER

CLEAT

2AT 12" O.C. (MAX.)
(BY INSTALLER)

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

DOOR HEAD DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
DOOR JAMB DETAIL

D1
1

PLAN VIEW

BACKER ROD & SEALANT
(BY OTHERS)

FLA9901
DOOR JAMB
GUTTER SPLICE

FLA6401
DOOR JAMB FLASHING

BACKER ROD & SEALANT
(BY OTHERS)

FLA9901
DOOR JAMB

GUTTER SPLICE

FLA6401
DOOR JAMB FLASHING

DOOR SYSTEM
(BY OTHERS)

DOOR SYSTEM
(BY OTHERS)

PANEL LENGTH
(SEE ELEV.)

3/16"±

0.040" MIN.
FORMING RADIUS

FABRICATION REQUIREMENTS FOR
VERTICAL JAMB TRIM FORMING

RADIUS MUST BE .040" MIN.
RESULTS: SMOOTH CURVATURE
W/O CRACKED PAINT. KNIFE DIE

AND FLAT HEMMING NOT ALLOWED

1" JT. 3 3" LONG CLIPS AT
24" O.C. (MAX.)

2 (2) PER CLIP
(BY INSTALLER)

BEMO ACCURE WALL
PANEL SYSTEM

STUD FRAMING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

PANEL LENGTH
(SEE ELEV.)

1" JT.

1 1/4"

8 1/2"

FLA6401
DOOR JAMB FLASHING

3(1) PER DOOR JAMB
GUTTER SPLICE AT

EACH SUPPORT HAT

2"

2 1/4"
SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

2 1/16"

3/4"3/4"

1 5/16"3/4"

Ø0.256"

3/8"

LC
1 11/16"

FLA9901
DOOR JAMB

GUTTER SPLICE
(PROFILE)

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

1SPACING PER
PANEL FACE

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

3AT 24" O.C.
(MAX.)

FLA6401
DOOR JAMB FLASHING

BEMO ACCURE WALL
PANEL SYSTEM

FLA9901
DOOR JAMB

GUTTER SPLICE

EXTERIOR
SHEATHING
(BY OTHERS)

STUD FRAMING
(BY OTHERS)

DOOR SYSTEM
(BY OTHERS)

2OVER SUBSTRATE

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

DOOR JAMB DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
INSIDE CORNER DETAIL

D1
1

STUD FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

2"

FLA9901
INSIDE CORNER
GUTTER SPLICE

PANEL LENGTH
(SEE ELEV.)

PANEL LENGTH
(SEE ELEV.)

BEMO ACCURE WALL
PANEL SYSTEM 2 OVER SUBSTRATE

HIGH DENSITY INSULATION
(BY OTHERS)3 3" LONG CLIPS AT

24" O.C. (MAX.)

PLAN VIEW

1"

1"

2 (2) PER CLIP
(BY INSTALLER)

ALTERNATE INSIDE CORNER DETAIL W/ TRIM

FLA9901
INSIDE CORNER
GUTTER SPLICE

BEMO ACCURE
WALL PANEL
SYSTEM

2 3" LONG CLIPS AT
24" O.C. (MAX.)

2 (2) PER CLIP
(BY INSTALLER)

FLA5601
INSIDE CORNER FLASHING

4AT 16" O.C.
(MAX.)

3(2) PER INSIDE
GUTTER SPLICE AT

EACH SUPPORT HAT

3(2) PER INSIDE CORNER
GUTTER SPLICE AT

EACH SUPPORT HAT

4"

4"

FLA5601
INSIDE CORNER FLASHING

CL HEM

CL HEM

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

2 1/4"
SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

2"
2 1/4"

SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

1SUPPORT HAT ATTACHMENT FASTENER
VARIES DEPENDING ON APPLICATION

AND SUBSTRATE  (BY INSTALLER)

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

1 SPACING PER PANEL FACE

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

3/4"

3 1/2"

FLA9901
INSIDE CORNER GUTTER SPLICE

(PROFILE)

3/8"3 1/8"

3/4"2 3/4" LC

Ø0.256"

3/4"
3 1/2"

3/8"

3 1/8"

3/4"

2 3/4"

LC

Ø0.256"

BEMO ACCURE WALL
PANEL SYSTEM

1SPACING PER
PANEL FACE

FLA5601
INSIDE CORNER FLASHING

33" LONG CLIPS AT
24" O.C. (MAX.)

2(2) PER CLIP
(BY INSTALLER)

4AT 16" O.C.
(MAX.)

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON

APPLICATION AND SUBSTRATE
(BY INSTALLER)

FLA9901
INSIDE CORNER
GUTTER SPLICE

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

INSIDE CORNER DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
PANEL JOINT DETAIL

D1
1

PLAN VIEW

2 OVER SUBSTRATE

HIGH DENSITY INSULATION
(BY OTHERS)

PANEL LENGTH
(SEE ELEV.)

1" JT.

PANEL LENGTH
(SEE ELEV.)

2"

STUD FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

33" LONG CLIPS AT
24" O.C. (MAX.)

2(2) PER CLIP
(BY INSTALLER)

BEMO ACCURE WALL
PANEL SYSTEM

PANEL
FACE

1" JT.

2"

STUD FRAMING
(BY OTHERS)

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIPS AT
24" O.C. (MAX.)

BEMO ACCURE WALL
PANEL SYSTEM

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

A

A

SECTION A-A

3 (2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

PANEL FACE

1 3/16"

2 3/8"

1/2"

5/8"

8°

11" 1" REVEAL

PANEL PROFILE
1 1/4"

LAP AT
EACH HAT

PANEL FACE
-4 INCHES

1 1/8"

4"

3"

3/8" 3/8"2 1/4"

3/4" 3/4"1 1/2"

5/8"

5/8"

2 5/8"

1 3/8"

PANEL
FACE

2 5/8"

1 3/8"

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

DESCRIPTION

FLA9901
GUTTER SPLICE

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

2 1/4"
SYSTEM
DEPTH

2 1/4"
SYSTEM
DEPTH

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

1SPACING PER
PANEL FACE

1 SPACING PER
PANEL FACE

FLA9901
GUTTER SPLICE

FLA9901
GUTTER SPLICE

3/4" GUTTER
SPLICE TAB

FLA9901
GUTTER SPLICE

3"

3/4" 3/4"1 1/2"

3/4" TABS
FOLDED UP 90°GUTTER

SPLICE

3(2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

APPROVED SUPPORT HAT ATTACHMENT FASTENER

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON

APPLICATION AND SUBSTRATE
(BY INSTALLER)

3/8" 3/8"2 1/4"

Ø0.256"

Ø0.256"

Ø0.256"

3/4"

Ø0.256"

WALL ASSEMBLY
(BY OTHERS)

WALL ASSEMBLY
(BY OTHERS)

3/16" POP RIVET

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

FLA9901
GUTTER SPLICE

(PROFILE)

FLA9901
GUTTER SPLICE

(LAYOUT)

LCLC

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

3 OVER SUBSTRATE

BEMO ACCURE WALL
PANEL SYSTEM

23" LONG CLIPS AT
24" O.C. (MAX.)

1SPACING PER
PANEL FACE

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

2(2) PER CLIP
(BY INSTALLER)

STUD FRAMING
(BY OTHERS)

BB

SECTION B-B

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

JOINT DETAILS

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
LOUVER HEAD DETAIL

D1
1

LOUVER SYSTEM
(BY OTHERS)

BACKER ROD AND
SEALANT (BY OTHERS)

FLA6001
LOUVER HEAD

FLASHING (BOTTOM)

FLA5901
LOUVER HEAD

FLASHING (TOP)

5/8"

45°

DRIP CLEAT

45°

5/8"

DRIP HEM

8 1/2"

DRIP CLEAT

FLA6001
LOUVER HEAD

FLASHING (BOTTOM)

FLA5901
LOUVER HEAD

FLASHING (TOP)

FLA9902
PANEL STARTER CLEAT

1/2"

1 1/8"

1/2"

5/16"

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

135°

135°

3 3/8"
1 1/2"

DRIP HEM

PANEL FACE
SEE ELEV.

1" JT.

AIR
FLOW1" JT.

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIP AT
24" O.C. (MAX.)

BEMO ACCURE WALL
PANEL SYSTEM

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

FLA9902
PANEL STARTER CLEAT

2AT 12" O.C. (MAX.)
(BY INSTALLER)

PANEL FACE
SEE ELEV.

BEMO ACCURE WALL PANEL
(PERFORATED AT BOTTOM)

1SPACING PER
PANEL FACE

2"
2 1/4"

SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

3/4" GUTTER
SPLICE TAB

FLA9901
GUTTER SPLICE

3/4" MIN.

3(2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON

APPLICATION AND SUBSTRATE
(BY INSTALLER)

STUD FRAMING
(BY OTHERS)

3 24"  O.C.
MAXIMUM

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

1" JT.

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

EXTERIOR
SHEATHING
(BY OTHERS)

2 OVER
SUBSTRATE

STUD FRAMING
(BY OTHERS)

1SUPPORT HAT ATTACHMENT
FASTENER VARIES

DEPENDING ON APPLICATION
AND SUBSTRATE

(BY INSTALLER)

1 SPACING PER
PANEL FACE

LOUVER SYSTEM
(BY OTHERS)

FLA6001
LOUVER HEAD

FLASHING (BOTTOM)

FLA5901
LOUVER HEAD

FLASHING (TOP)

BEMO ACCURE WALL PANEL
(PERFORATED AT BOTTOM)

FLA9902
PANEL STARTER

CLEAT

2AT 12" O.C. (MAX.)
(BY INSTALLER)

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

LOUVER HEAD DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
LOUVER JAMB DETAIL

D1
1

PLAN VIEW

BACKER ROD & SEALANT
(BY OTHERS)

FLA9901
LOUVER JAMB
GUTTER SPLICE

FLA6401
LOUVER JAMB FLASHING

PANEL LENGTH
(SEE ELEV.)

3/16"±

0.040" MIN.
FORMING RADIUS

FABRICATION REQUIREMENTS FOR
VERTICAL JAMB TRIM FORMING

RADIUS MUST BE .040" MIN.
RESULTS: SMOOTH CURVATURE
W/O CRACKED PAINT. KNIFE DIE

AND FLAT HEMMING NOT ALLOWED

1" JT. 3 3" LONG CLIPS AT
24" O.C. (MAX.)

2 (2) PER CLIP
(BY INSTALLER)

BEMO ACCURE WALL
PANEL SYSTEM

STUD FRAMING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

BACKER ROD & SEALANT
(BY OTHERS)

FLA9901
LOUVER JAMB

GUTTER SPLICE

FLA6401
LOUVER JAMB FLASHING

PANEL LENGTH
(SEE ELEV.)

1" JT.

1 1/4"

8 1/2"

FLA6401
LOUVER JAMB FLASHING

3(1) PER LOUVER JAMB
GUTTER SPLICE AT

EACH SUPPORT HAT

LOUVER SYSTEM
(BY OTHERS)

LOUVER SYSTEM
(BY OTHERS)

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

2"

2 1/4"
SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

2 1/16"

3/4"3/4"

1 5/16"3/4"

Ø0.256"

3/8"

LC
1 11/16"

FLA9901
LOUVER JAMB

GUTTER SPLICE
(PROFILE)

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

1SPACING PER
PANEL FACE

3AT 24" O.C.
(MAX.)

FLA6401
LOUVER JAMB FLASHING

BEMO ACCURE WALL
PANEL SYSTEM

FLA9901
LOUVER JAMB

GUTTER SPLICE
EXTERIOR
SHEATHING
(BY OTHERS)

STUD FRAMING
(BY OTHERS)

LOUVER SYSTEM
(BY OTHERS)

2OVER SUBSTRATE

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

LOUVER JAMB DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
LOUVER SILL DETAIL

D1
1

2"

1/4"

FLA6301
LOUVER SILL FLASHING

BACKER ROD AND
SEALANT (BY OTHERS)

LOUVER SYSTEM
(BY OTHERS)

6 3/8"

3/8"

2 3/8"

1 1/2"

5/8"

45°

DRIP HEM

DRIP HEM

174°96°

FLA6301
LOUVER SILL FLASHING

2 3/16"

1 1/16"
2 1/16"

FLA9902
SILL SUPPORT CHANNEL

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIP AT
24" O.C. (MAX.)

BEMO ACCURE WALL
PANEL SYSTEM

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

STUD FRAMING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

FLA9902
SILL SUPPORT CHANNEL

(18GA GALV. STEEL)

2"
2 1/4"

SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

1SPACING PER PANEL FACE

FLA9901
GUTTER SPLICE

3(2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

3 AT 24" O.C.
(MAX.)

3/4" MIN.

FLA9901A
 CUSTOM GUTTER SPLICE

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

3/4" GUTTER
SPLICE TAB

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FLA6301
LOUVER SILL FLASHING

BEMO ACCURE WALL
PANEL SYSTEM

STUD FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

2 OVER SUBSTRATE

1 SPACING PER
PANEL FACE

33" LONG CLIPS AT
24" O.C. (MAX.)

1SUPPORT HAT
ATTACHMENT

FASTENER VARIES
DEPENDING ON

APPLICATION AND
SUBSTRATE

(BY INSTALLER)

2AT 12" O.C. (MAX.)
(BY INSTALLER)

4AT 12" O.C.
(MAX.)

FLA9902
SILL SUPPORT CHANNEL
(18GA GALV. STEEL)

LOUVER SYSTEM
(BY OTHERS)

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

LOUVER SILL DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
OUTSIDE CORNER DETAIL

D1
1

PANEL LENGTH
(SEE ELEV.)

BEMO ACCURE WALL
PANEL PRECISION

MITERED 90° CORNER

33" LONG CLIPS AT
24" O.C. (MAX.)

1" JT.

PANEL LENGTH
(SEE ELEV.)

17
8"

FLA9901
GUTTER SPLICE

2 OVER SUBSTRATE

HIGH DENSITY INSULATION
(BY OTHERS)

PLAN VIEW

PANEL LENGTH
(SEE ELEV.)

1" JT.

PANEL LENGTH
(SEE ELEV.)

STUD FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

1"41
2"

1"

41
2"

BEMO ACCURE WALL
PANEL SYSTEM

FLA9902
OUTSIDE CORNER

GUTTER SPLICE

STUD FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

ALTERNATE OUTSIDE CORNER DETAIL W/ TRIM

2(2) PER CLIP
(BY INSTALLER)

BEMO ACCURE WALL
PANEL SYSTEM

3(2) PER OUTSIDE CORNER
GUTTER SPLICE AT EACH

SUPPORT HAT

3 (2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

FLA9902
OUTSIDE CORNER GUTTER SPLICE

(PROFILE)

2"

3/4"

1 1/4"

4 1/2"

3/4"

2"

3/4"1 1/4"

4 1/2"

3/4"

1 5/16"

1 5/16"

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

1 SUPPORT HAT ATTACHMENT FASTENER
VARIES DEPENDING ON APPLICATION
AND SUBSTRATE (BY INSTALLER)

1 SPACING PER PANEL FACE

2(2) PER CLIP
(BY INSTALLER) 2(2) PER CLIP
(BY INSTALLER)

2 1/4"
SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

2"

2 1/4"
SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

FLA9901
GUTTER SPLICE

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

EXTERIOR SHEATHING
(BY OTHERS) 2 OVER SUBSTRATE

STUD FRAMING
(BY OTHERS)

BEMO ACCURE WALL
PANEL SYSTEM

FLA9901
GUTTER SPLICE

BEMO ACCURE WALL
PANEL PRECISION

MITERED 90° CORNER

Ø0.256"
LC

Ø0.256"

LC

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

OUTSIDE CORNER DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
SOFFIT AT FASCIA DETAIL

D1
1

AIR
FLOW

AIR
FLOW

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIPS AT
24" O.C. (MAX.)

ACCURE WALL PANEL
 (MODIFIED PER FIELD CONDITION)

2OVER SUBSTRATE

HIGH DENSITY INSULATION
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

1" JT.

2 AT 12" O.C.
(BY INSTALLER)

ACCURE WALL PANEL
(MODIFIED PER FIELD CONDITION)

FLA9902
VENTED SUPPORT ZEE
18GA GALV. STEEL

STUD FRAMING
(BY OTHERS)

VERIFY IN FIELD

1SPACING PER
PANEL FACE

PANEL FACE
(SEE ELEV.)

PANEL FACE
(SEE ELEV.)

FLA9901A
CUSTOM GUTTER SPLICE

FLA9901
GUTTER SPLICE

2"
2 1/4"

SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

110°
110°

70°

70°

1 3/8"

1 3/8"

1"

FLA9902
VENTED SUPPORT ZEE

3(2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

1"

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

BEMO ACCURE WALL
PANEL SYSTEM

2"

2 1/4"
SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

FLA9901
GUTTER SPLICE

EXTERIOR SHEATHING
(BY OTHERS)

BEMO ACCURE WALL
PANEL SYSTEM

2 OVER SUBSTRATE

33" LONG CLIPS AT
24" O.C. (MAX.)

2AT 12" O.C. (MAX.)
(BY INSTALLER)

FLA9902
VENTED SUPPORT ZEE

18GA GALV. STEEL

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING

ON APPLICATION AND SUBSTRATE
(BY INSTALLER)

1 SPACING PER
PANEL FACE

STUD FRAMING
(BY OTHERS)

3/4" GUTTER
SPLICE TAB

FLA9902
VENTED GUTTER ZEE

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

SOFFIT/FASCIA DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
SOFFIT AT FASCIA DETAIL

D1
1

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

110°
110°

70°

70°

1 3/8"

1 3/8"

1"

FLA9902
VENTED SUPPORT ZEE

1"

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

STUD FRAMING
(BY OTHERS)

2"
WALL ASSEMBLY

(BY OTHERS)

2"

WALL ASSEMBLY
(BY OTHERS)

2 1/4"
SYSTEM
DEPTH

PANEL FACE
(SEE ELEV.)

1" JT.

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIPS AT
24" O.C. (MAX.)

2OVER SUBSTRATE

BEMO ACCURE WALL
PANEL SYSTEM

HIGH DENSITY INSULATION
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON

APPLICATION AND SUBSTRATE
(BY INSTALLER)

1SPACING PER
PANEL FACE

FLA9901
GUTTER SPLICE

3/4" GUTTER
SPLICE TAB

AIR
FLOW

FLA9902
VENTED SUPPORT ZEE

18GA GALV. STEEL

FLA9901
GUTTER SPLICE

BEMO ACCURE WALL
PANEL SYSTEM

33" LONG CLIPS AT
24" O.C. (MAX.)

2AT 12" O.C. (MAX.)
(BY INSTALLER)

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING

ON APPLICATION AND SUBSTRATE
(BY INSTALLER)

EXTERIOR SHEATHING
(BY OTHERS)

2 OVER SUBSTRATE

STUD FRAMING
(BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

SOFFIT/WALL DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
WALL BASE AT SLAB DETAIL

D1
1

FLA6001
WALL BASE

FLASHING (BOTTOM)

FLA5901
WALL BASE

FLASHING (TOP)

CONCRETE FASTENER
(BY OTHERS)

5/8"

45°

DRIP CLEAT

45°

5/8"

DRIP HEM

DRIP CLEAT

FLA6001
WALL BASE

FLASHING (BOTTOM)

4"1 9/16"

DRIP HEM
FLA5901

WALL BASE
FLASHING (TOP)

4 9/16" 4 1/8" PANEL FACE
SEE ELEV.

1"

AIR
FLOW1" JT.

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIP AT
24" O.C. (MAX.)

BEMO ACCURE WALL
PANEL SYSTEM

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

FLA9902
PANEL STARTER CLEAT

2AT 12" O.C. MAX
(BY INSTALLER)

PANEL FACE
SEE ELEV.

1SPACING PER
PANEL FACE

3/4" GUTTER
SPLICE TAB

FLA9901
GUTTER SPLICE

3(2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON

APPLICATION AND SUBSTRATE
(BY INSTALLER)

STUD FRAMING
(BY OTHERS)

2"
2 1/4"

SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

FLA9902
PANEL STARTER CLEAT

1/2"

1 1/8"

1/2"

5/16"

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

135°

135°

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

FLA6001
WALL BASE

FLASHING (BOTTOM)

FLA5901
WALL BASE

FLASHING (TOP)

BEMO ACCURE WALL
PANEL SYSTEM

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

HIGH DENSITY
INSULATION
(BY OTHERS)

STUD FRAMING
(BY OTHERS)

1SUPPORT HAT
ATTACHMENT

FASTENER VARIES
DEPENDING ON

APPLICATION AND
SUBSTRATE

(BY INSTALLER)

FLA9902
PANEL STARTER CLEAT

2 AT 12" O.C.
(BY INSTALLER)

1 SPACING PER
PANEL FACE

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

WALL BASE DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
WALL JAMB DETAIL

D1
1

PLAN VIEW

2OVER SUBSTRATE

HIGH DENSITY INSULATION
(BY OTHERS)

MASONRY UNITS
(BY OTHERS)33" LONG CLIPS AT

24" O.C. (MAX.)

STUD FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

4 CONT.

FLA9901
 WALL JAMB

GUTTER SPLICE

2(2) PER CLIP
(BY INSTALLER)

3(1) PER WALL JAMB GUTTER
SPLICE AT EACH SUPPORT HAT

.040 MIN.
FORMING RADIUS

3/16"± 1/4"

FABRICATION REQUIREMENTS FOR
VERTICAL JAMB TRIM FORMING

RADIUS MUST BE .040" MIN.
RESULTS: SMOOTH CURVATURE
W/O CRACKED PAINT. KNIFE DIE

AND FLAT HEMMING NOT ALLOWED

BEMO ACCURE WALL
PANEL SYSTEM

PANEL LENGTH
(SEE ELEV.)

2"

2 1/4"
SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

1 1/4"

1/2"

2"

3/4"

1 1/4"3/4"

Ø0.256"
LC

3/8" 1 5/8"

FLA9901
WALL JAMB

GUTTER SPLICE
(PROFILE)

1SPACING PER PANEL FACE

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

FLA9901
 WALL JAMB
GUTTER SPLICE

BEMO ACCURE WALL
PANEL SYSTEM

MASONRY UNITS
(BY OTHERS)33" LONG CLIPS AT

24" O.C. (MAX.)

2AT 12" O.C. (MAX.)
(BY INSTALLER)

1SUPPORT HAT
ATTACHMENT

FASTENER
VARIES

DEPENDING ON
APPLICATION

AND
SUBSTRATE

(BY INSTALLER)

1 SPACING PER
PANEL FACE

EXTERIOR SHEATHING
(BY OTHERS)

STUD FRAMING
(BY OTHERS)

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

WALL JAMB DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
WINDOW HEAD DETAIL

D1
1

PANEL FACE
SEE ELEV.

1"

AIR
FLOW1" JT.

WINDOW SYSTEM
(BY OTHERS)

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIP AT
24" O.C. (MAX.)

BEMO ACCURE WALL
PANEL SYSTEM

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

FLA9902
PANEL STARTER CLEAT

2AT 12" O.C. (MAX.)
(BY INSTALLER)

FLA6001
WINDOW HEAD

FLASHING (BOTTOM)

FLA5901
WINDOW HEAD

FLASHING (TOP)

PANEL FACE
SEE ELEV.

4CONTINUOUS

BEMO ACCURE WALL PANEL
(PERFORATED AT BOTTOM)

5/8"

45°

DRIP CLEAT

45°

5/8"

DRIP HEM

8 1/2"

DRIP CLEAT

FLA6201
WINDOW HEAD

FLASHING (BOTTOM)

3 3/8"
1 1/2"

DRIP HEM

FLA6101
WINDOW HEAD

FLASHING (TOP)

FLA9902
PANEL STARTER CLEAT

1/2"

1 1/8"

1/2"

5/16"

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

1SPACING PER
PANEL FACE

2"
2 1/4"

SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

3/4" GUTTER
SPLICE TAB

FLA9901
GUTTER SPLICE

3/4" MIN.

3(2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

1SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON

APPLICATION AND SUBSTRATE
(BY INSTALLER)

STUD FRAMING
(BY OTHERS)

3 AT 24" O.C.
MAXIMUM

135°

135°

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

EXTERIOR
SHEATHING
(BY OTHERS)

2 OVER
SUBSTRATE

STUD FRAMING
(BY OTHERS)

1SUPPORT HAT ATTACHMENT
FASTENER VARIES

DEPENDING ON APPLICATION
AND SUBSTRATE

(BY INSTALLER)

1 SPACING PER
PANEL FACE

WINDOW SYSTEM
(BY OTHERS)

FLA6201
WINDOW HEAD

FLASHING (BOTTOM)

FLA6101
WINDOW HEAD

FLASHING (TOP)

BEMO ACCURE WALL PANEL
(PERFORATED AT BOTTOM)

FLA9902
PANEL STARTER

CLEAT

2AT 12" O.C. (MAX.)
(BY INSTALLER)

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

WINDOW HEAD DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
WINDOW JAMB DETAIL

D1
1

PLAN VIEW

WINDOW SYSTEM
(BY OTHERS)

BACKER ROD & SEALANT
(BY OTHERS)

FLA9901
WINDOW JAMB
GUTTER SPLICE

FLA6401
WINDOW JAMB FLASHING

PANEL LENGTH
(SEE ELEV.)

3/16"±

0.040" MIN.
FORMING RADIUS

FABRICATION REQUIREMENTS FOR
VERTICAL JAMB TRIM FORMING

RADIUS MUST BE .040" MIN.
RESULTS: SMOOTH CURVATURE
W/O CRACKED PAINT. KNIFE DIE

AND FLAT HEMMING NOT ALLOWED

1" JT.

STUD FRAMING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

WINDOW SYSTEM
(BY OTHERS)

BACKER ROD & SEALANT
(BY OTHERS)

FLA9901
WINDOW JAMB

GUTTER SPLICE

FLA6401
WINDOW JAMB FLASHING

1" JT.
PANEL LENGTH

(SEE ELEV.)

1 1/4"

8 1/2"

FLA6401
WINDOW JAMB FLASHING

2"

2 1/4"
SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

2 1/16"

3/4"3/4"

1 5/16"3/4"

Ø0.256"

3/8"

LC
1 11/16"

FLA9901
WINDOW JAMB

GUTTER SPLICE
(PROFILE)

O/P HEM

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

1SPACING PER
PANEL FACE

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

3 3" LONG CLIPS AT
24" O.C. (MAX.)

2 (2) PER CLIP
(BY INSTALLER)

BEMO ACCURE WALL
PANEL SYSTEM

3(1) PER WINDOW JAMB
GUTTER SPLICE AT

EACH SUPPORT HAT

3AT 24" O.C.
(MAX.)

FLA6401
WINDOW JAMB FLASHING

BEMO ACCURE WALL
PANEL SYSTEM

FLA9901
WINDOW JAMB

GUTTER SPLICE
EXTERIOR
SHEATHING
(BY OTHERS)

STUD FRAMING
(BY OTHERS)

WINDOW SYSTEM
(BY OTHERS)

2OVER SUBSTRATE

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

WINDOW JAMB DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E



D1

REF. ARCH. DET. - 
WINDOW SILL DETAIL

D1
1

2"

1/4"

2(2) PER CLIP
(BY INSTALLER)

33" LONG CLIP AT
24" O.C. (MAX.)

BEMO ACCURE WALL
PANEL SYSTEM

2OVER SUBSTRATE

EXTERIOR SHEATHING
(BY OTHERS)

STUD FRAMING
(BY OTHERS)

HIGH DENSITY INSULATION
(BY OTHERS)

FLA9902
SILL SUPPORT CHANNEL

(18GA GALV. STEEL)

FLA6301
WINDOW SILL FLASHING

BACKER ROD AND
SEALANT (BY OTHERS)

WINDOW SYSTEM
(BY OTHERS)

4 1/2"

3/8"

2 3/8"

1 1/2"

5/8"

45°

DRIP HEM

DRIP HEM

174°96°

FLA6301
WINDOW SILL FLASHING

2 3/16"

1 1/16"
2 1/16"

FLA9902
SILL SUPPORT CHANNEL

2"
2 1/4"

SYSTEM
DEPTH

WALL ASSEMBLY
(BY OTHERS)

 ISOMETRIC VIEW 

[NOTE: ISOMETRIC VIEW IS FOR VISUALIZATION ONLY - OBJECTS NOT TO SCALE]

FASTENER DESIGNATIONS

MATERIAL DESIGNATIONS

MARK

1

2

3

4

5

6

7

8

9

1/4"-14 x 3/4" #3PT SCREW

10

11

12

1/4"-14 x 1" #3PT PANCAKE HEAD SCREW

* (1000 HRS OF CORROSION RESISTANT COATING IN ACCORDANCE WITH ASTM B117)

IMAGE

MARK

1

2

3

4

5

6

7

8

9

10

11

12

DESCRIPTION

DESCRIPTION

APPROVED SUPPORT HAT ATTACHMENT FASTENER

3/16" POP RIVET

1SPACING PER PANEL FACE

4AT 12" O.C.
(MAX.)

FLA9901
GUTTER SPLICE

3"

3/4" 3/4"1 1/2"

3/8" 3/8"2 1/4"

Ø0.256"

3/4"

Ø0.256"

FLA9901
GUTTER SPLICE

(PROFILE)

LCLC

3(2) PER GUTTER SPLICE
AT EACH SUPPORT HAT

3 AT 24" O.C.
(MAX.)

3/4" MIN.

FLA9901A
 CUSTOM GUTTER SPLICE

1 SUPPORT HAT ATTACHMENT
FASTENER VARIES DEPENDING ON
APPLICATION AND SUBSTRATE
(BY INSTALLER)

NOTES:
1. SYSTEM INSTALLS BOTTOM TO TOP, LEFT TO RIGHT.
2. ACTUAL DIMENSIONS FOR FUSION ACM PANELS TO BE

DETERMINED IN FIELD.
3. FRAMING SHOWN IS AN EXAMPLE ONLY. ACTUAL SUPPORT

TO BE VERIFIED IN FIELD.
4. ALL FASTENERS MUST PENETRATE 3/4" MIN. THROUGH

SUBSTRATE AND FRAMING.

THIS DETAIL IS GENERAL IN NATURE
AND WILL BE MODIFIED TO MEET JOB
SPECIFIC CONDITIONS

3/4" GUTTER
SPLICE TAB

WINDOW SYSTEM
(BY OTHERS)

FLA6301
WINDOW SILL FLASHING

BEMO ACCURE WALL
PANEL SYSTEM

STUD FRAMING
(BY OTHERS)

EXTERIOR SHEATHING
(BY OTHERS)

2 OVER SUBSTRATE

1 SPACING PER
PANEL FACE

33" LONG CLIPS AT
24" O.C. (MAX.)

1SUPPORT HAT
ATTACHMENT

FASTENER VARIES
DEPENDING ON

APPLICATION AND
SUBSTRATE

(BY INSTALLER)

2AT 12" O.C. (MAX.)
(BY INSTALLER)

4AT 12" O.C.
(MAX.)

FLA9902
SILL SUPPORT CHANNEL
(18GA GALV. STEEL)

STRFH54 VENTED 1" DEEP HAT CHANNEL (18 GA. GALV. STEEL)

BEMO ACCURE PANEL CLIP (4" LONG AT 24" O.C. MAX)

BEMO "40 MIL HT MEMBRANE" (3'x 65' ROLLS)

APPROVED SEALANT (15LF COVERAGE - TUBES) - (BY OTHERS)

CHECKED:

DRAWN:

NO. REVISION / ISSUE

PR
O

JE
C

T 
AD

D
R

ES
S

C
U

ST
O

M
ER

 N
AM

E

AR
C

H
IT

EC
T 

N
AM

E

DWG NO.SCALE

T 
H

 E
   

S 
K 

Y 
' S

   
T 

H
 E

   
L 

I M
 I 

T

REV

DWG TITLE

1

2

3

4

5

6

7

DATE

PROJECT NUMBER: ####

 B
EM

O
 S

TA
N

D
AR

D
 D

ET
AI

LS
 A

C
C

U
R

E 
W

AL
L 

PA
N

EL
S

    

 JON GOSS  2/18/22

  

WINDOW SILL DETAIL

6" = 1'-0"

D1
 

  

  

  

  

  

  

  

FO
R

 S
U

BM
IT

TA
L 

 D
AT

E


